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I JRSE REF= − − ⋅( )( )exp exp α β

α = 1 266, β = ⋅ −3 952 10 1,

J
t

t nULF

DCM
i

n

LFT

i

=
⋅

=
∑
1

J JULF ULF

t JLFT ULF

t JDCM ULFi

J JULF ULF   

JULF

JULF 2

2 4≤ <JULF
4 8≤ <JULF
8 10≤ <JULF
JULF 10

IUSF

I JUSF ULF= − − ⋅( )( )exp exp δ γ

δ = 1 135, γ = ⋅ −3 293 10 1,



74

k
M

m lWST

WST
i

n

PRD

i

=
⋅

=
∑
1

MWSTi

mPRD

mPRD

J
k k k k

kWSG
WST RCL DSP DSP

RCL

=
+( ) + −[ ]( )

+

2 0 25 1

0 5

,

,

JWSG
kWST

kRCL

kDSP

JWSG

JWSG

JWSG

JWSG

JWSG

JWSG
JWSG 0 5,

0 5 2, ≤ <JWSG
2 4≤ <JWSG
4 8≤ <JWSG
JWSG 8

IWST

I JWST WSG= − − ⋅( )( )exp exp η λ

η = ⋅ −6 077 10 1, λ = ⋅ −2 635 10 1,
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